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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HIND )
]
ENGLISH. o and i
Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are
choosing at least ONE question from each section.

The number of marks carried bjr a question/part is indicated against it. _ |
medium authorized in the Admission Certificate which must be

Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in @ medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

ution table is attached for necessary reference.

uestions shall be counted in sequential order. Unless struck off, attempt of a question
if attempted partly. Any page or portion of the page left blank in the

Elet must be clearly struck off.

Answers must be written in the
stated clearly on the cover of this

Attempts of q {
shall be counted even if
Question-cum-Answer Boo.

compulso_ry and out of the remaining, THREE are to be attempted
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The manager of a hotel based in New Delhi reports that the mea,
aumber of rooms rented out per night is at least 212 based on hig
observation for the past several months. One of the corporate officialg
feels that this number might be somewhat over-estimated. A sample of
150 nights produces a mean of 201:3 rooms and a standard deviation of
45-5 rooms. If these results suggest the manager has inflated his report,
he will be given a warning. At 5% level, what is the manager’s fate ?

[Normal distribution table is placed at the end of the booklet]
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A small firm intends to increase the capacity of a bottleneck operitlﬂi
by adding a new machine. Two alternatives A and B, have ::d
identified and the associated costs and revenues have been e(s)i(;)ul}:r B:
Annual fixed costs would be T 400,000 for A and O B
Variable costs per unit would be ?. 100 for A and - |

per unit would be ¥ 150. , int
% 0 .
break-even p i the

(i) Determine each alternative’s o ot |
(ii) At what volume of output would the two altern 5510
: e 28

same profit ?
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A new software which has been dés'igned for providing e-business
solutions can be sold both as a product and also as a service. Consider
two examples of software as product and service and discuss the pricing

and promotional strategy for the same. 10

@ & i s qen sitee w % ot ol sjen e faftE % wed A
- e § 2 aTamd ol S e F H IR A g W, WIS,
fraan it @ R A R e et Tt @ afEie
Tyee I |

What are the differences in respect of supply chain management
practices between a brick and mortar firm and an online ﬁrm ?
Hlustrate by taking examples from Walmart and Amazon.com
encompassing supply chain activities of éourcing, storage, distribution

and retailing. ' ' : 10
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The probability that a new adveftisi.ng campaign will increase sale's is
0-80. The probability that the cost of developing the new advertising
campaign can be kept within the original budget allocation is 0-40.
Assuming that the two events are independent, what is the probability
that the cost is not kept within budget or the campaign will not increase

sales ? . 10
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You are the manager of a small stee] mill and all your inputs except
!abour are fixed in the short-run. You suspect that as the input of labour
Increases, the output of steel will also increase. But you would like to
know more about the nature of this relationship so that you can predict
1':he output of steel associated with any level of labour input and use this
mi.‘ormation to determine the optimal level of labour input. To achieve
this goal, you conducted an experiment in which the level of labour input

is varied for 8 working days. This is shown in the following table :

Table
Observation Number of workers Tons of st eel
production

1 1 4
2 2 6

3 3 10

4 4 10

5 5 15

6 6 15

7 7 16

8 8 20

) Draw a scatter diagram. :

(ii) Develop the predictive regression model after finding out the

- values of intercept and slope.

(iii) If the number of workers is increased up to 10, what would be the

output of steel ?

b ErefRea w st Rofwi fife :
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Write short notes on the following :
(i)  Cyber Security

(ii)) Cryptography

(iii) Ethical Hacking
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5+10+5=20
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i)  What is the difference between Production and Operations

Management ? Illustrate with the help of examples,

(i) Service operations often face more difficulty in planning than
their manufacturing counterparts. However, service does hav.
certain advantages -that manufacturing does not have, Fx Iailtla
service planning difficulty and the advantages. Coﬁlparz b
taking one example from a service organisation (e.g. hospital) anﬁ
another from a manufacturing organisation (e.g. automobile).

™

5+10=15
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Case Study

XYZ Machine and Electronics

Early in 2016, Shekhar Sharma, Director of Supply Management
in XYZ Machine and Electronics, met his company’s President at the
President’s request, to discuss reducing material costs. The ‘meeting
centred on the company’s historical position as a buyer of only domestic
products due to constraints in government, contracts, that had recently
been removed. The company could now consider global sources. The
meeting concluded with Sharma receiving authorization to explore the

cost-saving potential of global sourcing.

XYZ Machine and Electronics

XYZ Machine and Electronics is a division of a worldwide
conglomerate that specializes in precision machined products and
~aerospace electronics. While largely government and defence oriented,
the company has one commercial aviation electronics division among its
15 autonomous operating groups. Total sales for XYZ during 2015 was
approx. ¥ 15,000 crores with over ¥ 5,000 crores being spent by supply

- management departments of various groups. Supply management
ﬁjnction is divided among 15 autonomous divisions. Each has its own
g supply management department, which reports to division management
but adheres to corporate policies and procedures. There is a relatively
small corporate supply managemetlt staff cbncemed with corporate

policy and common goods and services.

‘The Cost Reduction Objective

To maintain its competitive position, XYZ needed to explore all
~ possible ways to reduce costs. In addition to analyzing and working with
its domestic suppliers, Shekhar believed it was necessary at this time %

Lot e Al e mlalhal AAssmanns



(b)

" and delivery problems were minimal. Following that conversation,

et s A e AR & § e it | R & S

‘to help in achieving the objectives of Digital India ? Discuss.

Global Sourcing

Until 2016, XY7Z had only purchased

countertrade requirement. The other exce
Aviat

ion Electronics (CAE) division, which
a means of diversifying XYZ’s electronics
been buying from foreign sources but also

globally as part of an offset
ption was the Commercia]
had been acquired in 2015 as
markets. CAE not only had

o had established a factory in
Imgapore to source and manufacture one of its product lines. CAE’s

offshore experience began before being acquired by XYZ. At first, parts
were purchased from Singapore and other East Asian sources, These
parts were then assembled in this country. Soon CAE began to buy

assemblies in East Asia and finally all factory operations were shifted to

their own Singapore facility.

When Shekhar contacted each of the other’s supply managers, he
was. surprised to discover that each one had a collection of horror stories
of past attempts to establish global sources of supply and was unwilling
to try again. Most of these stories centred around problems of
communication, quality control, credibility and undefstanding.

Shekhar again contacted the CAE supply manager to discuss
details of the Siilgapore operation. Not only did the Singapore factory
build a product line, but also the Singapore supply department sourced
components for that product line from throughout East Asia. Initial cost
savings from first buys including engineering, test fixtures and other
start-up costs ranged from 10% to 18%. Subsequent purchases yielded
savings in the 25% to 40% range compared to domestic sources. Quality

Shekhar wondered what he might do next. |
(i)  What are the problems being faced by the organisation ? |
(ii) What choices for starting a global sourcing programme exist ?

(iii) Would XYZ benefit from an international supply manggement
office in Asia ? ; - 5+10+5=20
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What are the nine pillars of Digital India ? Explain. How are these § 7f9=15 B
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()  What is the difference between cluster sampling and stratified
sampling ? Explain with the help of examples.
(ii) A manufacturer of machine tools claims that the mean amount of
time required to assemble their top-of-the-line electric saw is
80 minutes with a standard deviation of 40 minutes. Data was
collected from a random sample of 64 past purchases of this

electric saw. What is the probability that the sample mean will be

greater than 88 minutes ? 5+10=15

[Normal distribution table is placed at the end of the booklet]
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What is the difference between data and information ? Introduce the key
coﬁcept of Enterprise Resource Planning (ERP) and how ERP can help

in managing organisational resources and operational planning. If you
have to implement ERP in your organisation, what mll be the key "
considerations for deciding on the system ? ' : 3+5+7=
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()

(1)

(ii)

(1i1)

@

(ii)

(iii)

. EGT-P-

q almﬂéﬁmm
w0 T Y gt s e .
T R 2 79 ey H, ABC fagg';m E?B?! I’ @?Qma”a‘;*:”

Th WA %
Cs.7e) %@%gﬁ;ﬁ% Sl R R N G

T T e T 1 2 % 9 3 e e
amfiER 30 & AT & frn T 2, 7w € | e @
8 45W%W%Wﬁﬁwwﬁl-&qm

qﬁwnﬁmﬁ:m,%aaﬁmﬁﬁmﬁwﬂﬁm;
e, 3fEd 37 e o W frew 25 e ol B, siea

37-5%@1%%3@? 1.8 fime | 3 wfierd # & fraest o
qqe ATk ? e Hifdm | |

Why do items managed or procured by an organisation need to be
classified ? How does ABC analysis help the organisation in this
regard ? -

What trade-offs are involved while determining economic order
quantity for an organisation ?

As part of an insurance company’s training program, participants
Jearn how to conduct an analysis of clients’ insurability. The goal
is to have participants achieve a time in the range of 30 to
45 minutes. Test results. for three participants were : Shygm, a
mean of 38 minutes and a standard deviation of 3 -ml?:lutes;
Mohan, a mean of 37 minutes and a standard deviation of
9.5 minutes and Kaushik, a mean of 375 mimthas and a standard
deviation of 1.8 minutes. Which of 1_:he participants would you

judge to be capable ? Explain.

12

5+5+10=20
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Discuss the key‘____o_bjectives of the Public Distribution System (PDS). How

are these objectives being delivered by our existing system ? Examine

how efficient our PDS is and if it can be improved by involving private
parties. : 3+3+4=10

(b) mﬂﬁamaﬂﬁm%ﬁfﬁaﬁsﬁﬁﬁﬁmmaﬁwmwﬁ%ﬁﬂ
o s sgua st sl He-Rafor e § | |
Illustrate with examples, how do MNCs set transfer pricing to take
advantage of differential tax rates in different countries. 10
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What is the difference between Strategy and Tactics ? Discuss the
various approaches for turning around a sick company. What will be
your approach for turning around Air India without going for

disinvestment ? : : 3+3+4=10
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Discuss an approach for macro-economic analysis of the business
environment. How do you determine industry attractiveness ? Discuss 2 )
framework for analyzing industry structure. 3+4+3=1 _'
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Discu vari i |
ss the various perceived risks for a company from a developed.
eéconomy planning to invest in a new project in a developin g and
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Total size of the indust
_o al size of the industry 93.0 | 1920 | 84-0
(in ¥ crores)
Busi it profitability, -
usiness unit profita y 7.0 8.5 10-0
% of sales
% of sales of the business
unit from its international 0-0 | 10-0 | 40-0

operations




(b)

(c)
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namely, Transaction, Translation (Accounting) and Economic. What are
the different strategies organisationsg can adopt to deal with these
exposure risks ? 20

aﬂtm%ﬁm%mﬁlwm% | e At & e 3
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We have many industries and services managed and controlled by the
Government and run as Public Sector Undertakings. Discuss the
advantages and disadvantages of the government managing these
corporations, taking exémples under .each category. Also give your

recommendation, giving reasons why. ‘15
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What are generic strategies ? Why can generic strategies not deliver

above average performance ? Discuss briefly, business strategy
' 44+447=15

‘development process.
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What B8 e in our economy. Mention five broad policy
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initiatives that can help growth of S
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(b)

(c)
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Elucidate the concept' of core
titive advantage ? How do organisationg

competency. HoOwW does it help gy

organisation to create compe
identify, develop and protect its core competencies 7 5+5+5x15
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Why are Free Trade Agreements signed ? What are their advantages
and disadvantages ? Discuss the stages of evolution of a domestic

corporation to finally emerge a;s a global conglomerate. 5+5+10=20
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